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CIRCLES

Others

1. If radii of the two concentric circles are 15cm and 17cm, then

the
length of each chord of one circle which is tangent to other

is:
  8cm       (b)  
16cm   (c)  30cm   
(d) 17cm

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oUeTbdjjRoXo


2. In Figure, if 
 is tangent to the circle at  and 
 is the

centre of the circle, then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

PR P Q

∠POQ =

1100

1000

1200

900

3. If from a point 
 tangents 
 are drawn
 to the

ellipse 
 so that the
 equation of 
 is 


then find
the coordinates of 

h id l i

P , PQandPR

+ y2 = 1
x2

2
QR

x + 3y = 1, P .

https://dl.doubtnut.com/l/_cHrkGvV1UXdm
https://dl.doubtnut.com/l/_n3RDK73h5Avf


Watch Video Solution

4. In Figure, if tangents 
are drawn to a circle such

that 
 and chord 
 is drawn parallel to the

tangent 
then 
 
 
 
 (d) None of

these

Watch Video Solution

PA and PB

∠APB = 300 AC

PB, ∠ABC = (a)600 (b)900 (c)300

5. In two concentric circles, a chord of length 24cm of larger

circle
becomes a tangent to the smaller circle whose radius is

5cm. Find the radius
of the larger circle.

Watch Video Solution

https://dl.doubtnut.com/l/_n3RDK73h5Avf
https://dl.doubtnut.com/l/_7bQYmxBFZcFm
https://dl.doubtnut.com/l/_ig4ufvJkxo9G


6. In two concentric circle, prove that a chord of larger circle

which is
 tangent to smaller circle is bisected at the point of

contact.

Watch Video Solution

7. From an external point 
 two tangents  and 
 are

drawn to the circle with centre .
 Prove that 
 is the

perpendicular bisector of .

Watch Video Solution

P , PA PB

O OP

AB

https://dl.doubtnut.com/l/_VzU7DjJqSg38
https://dl.doubtnut.com/l/_ngOytcqDvTG1


8. A circle is inscribed in a 
 having side 


as shown in Figure. Find 


Watch Video Solution

ABC

8cm, 10cmand12cm AD, BEandCF .

9. 
 is a quadrilateral such that 
 A circle 


 touches the sides  and 
 at 

and 
 respectively. If  and 


find 

ABCD ∠D = 90∘

C(O, r) AB, BC, CD DA P , Q, R

S BC = 38cm, CD = 25cm

BP = 27cm, r.

https://dl.doubtnut.com/l/_ngOytcqDvTG1
https://dl.doubtnut.com/l/_SmzD0AkaorMA
https://dl.doubtnut.com/l/_j5zE9NbFgj7x


Watch Video Solution

10. 
are tangents from 
to the circle with centre 


At point 
a tangent is drawn cutting 
at 
and 
at


Prove that 

Watch Video Solution

PA and PB P

O. M, PA K PB

N. KN = AK + BN.

11. In Figure, 
are tangents from 
to the circle with

centre 
 is a point on the circle. Prove that,




XPandXQ X

O
.
R

XA + AR = XB + BR

https://dl.doubtnut.com/l/_j5zE9NbFgj7x
https://dl.doubtnut.com/l/_u7lEILImBNoQ
https://dl.doubtnut.com/l/_SaktpD3KrXrk


Watch Video Solution

12. In figure, sides 
and 
of 
are produced to point 


 and 
 respectively. If 
 and 

find 
Figure

Watch Video Solution

QP RQ PQR

S T ∠SPR = 1350 ∠PQT = 1100,

∠PRQ.

13. Two concentric circles are of diameters 30cm and 18cm. Find

the length
 of the chord of the larger circle which touches the

smaller circle.

Watch Video Solution

https://dl.doubtnut.com/l/_SaktpD3KrXrk
https://dl.doubtnut.com/l/_yDV1Xu0MD3Qa
https://dl.doubtnut.com/l/_SRZkSFvW18GQ


14. In the given figure, AB is diameter of a circle with centre O

and AT is a tangent at , find .


Watch Video Solution

∠AOQ = 58∘ ∠ATQ

15. In Figure, triangle 
 is drawn to circumscribe a circle of

radius 4cm such that the segments 
 are of lengths

ABC

BDandDC

https://dl.doubtnut.com/l/_K8LHCFhgQArC
https://dl.doubtnut.com/l/_k3fTjpMejMlL


8cm and 6cm respectively. Find the lengths of sides


when area of 
is 

Watch Video Solution

ABandAC, ABC 84cm2.

16. In Figure, 
 is a tangent to the circle with centre 

bisects 
Prove that 

Watch Video Solution

BC O
.
OE

AP . AEO~ABC.

17. In Figure, two tangents 
 are drawn to a circle

with centre 
such that 
Prove that 

Watch Video Solution

ABandAC

O ∠BAC = 1200. OA = 2AB

https://dl.doubtnut.com/l/_k3fTjpMejMlL
https://dl.doubtnut.com/l/_RyIdF7oeOrAO
https://dl.doubtnut.com/l/_mrXc1ZEqz7RY


18. In the given figure, O is the centre of the circle and OLM is

perpendicular to AOB. Prove that (i) A, O, P and M are concyclic

(ii)  (iii) P, L, O and B are concyclic

Watch Video Solution

∠OAP = ∠OMB

19. In Figure, common tangents P Q and RS
 to two circle

intersect at A.
Prove that PQ=RS

Watch Video Solution

20. Circles C(O, r) and C(O', r'),  touch internally at P. PQ

is a chord of circle C(O, r) which intersects C(O', r') at R. Show

that OO'RQ is a trapezium

Watch Video Solution

(r > r' )

https://dl.doubtnut.com/l/_yBW7gpjkM1FW
https://dl.doubtnut.com/l/_iFPHkRR7Einr
https://dl.doubtnut.com/l/_rCloGaEvnleF


21. Two concentric circles of radii 
are given. Then

length of chord 
which touches the inner circle at 
is equal

to
(a) 4 cm (b) 6cm (c) 8 cm
(d) 10 cm

Watch Video Solution

3cm and 5cm

BC P

22. In Figure, a circle with centre 
 is inscribed in a

quadrilateral ABCD such that, it touches sides
BC, AB, AD and C

D
 at points P, Q, R and S respectively. If


 and 
 then

the radius of the circle (in cm) is
(a) 11 (b) 18
(c) 6 (d) 15

Watch Video Solution

O

AB = 29cm, AD = 23cm, ∠B = 900 DS = 5cm,

https://dl.doubtnut.com/l/_rCloGaEvnleF
https://dl.doubtnut.com/l/_LF6CS6SPMHh4
https://dl.doubtnut.com/l/_5cHAPH5Jo3ol


23. In Figure, 
 is the centre of the circle and 
 is tangent

to it at 
Prove that 
.

Watch Video Solution

O BCD

C. ∠BAC + ∠ACD = 900

24. In Figure, there are two concentric circles with centre 
 of

radii 
 . From an external point 
 tangents 


 are drawn to these circles. If 
 find

the length of 

Watch Video Solution

O

5cm and 3cm P ,

PA and PB AP = 12cm,

BP .

25. . In the given figure, two equal circles, with centres O and O',

touch each other at X. OO' produced me the circle with centre

https://dl.doubtnut.com/l/_SdQIHFrutmUl
https://dl.doubtnut.com/l/_6luLgoOQW08B
https://dl.doubtnut.com/l/_oggoyDUoACz6


O' at A. AC is tangent to the circle with centreO, at the point C.

O'D is perpendicular to AC. Find the value of .

Watch Video Solution

DO'

CO

26. Prove that the line segment joining the points of contact of

two parallel
tangents passes through the centre.

Watch Video Solution

27. about to only mathematics

Watch Video Solution

28. In two concentric circles prove that all chords of the outer

circle which touch the inner circle are of equal length.

https://dl.doubtnut.com/l/_oggoyDUoACz6
https://dl.doubtnut.com/l/_7ZLvOtkahuZO
https://dl.doubtnut.com/l/_S1vdmfgLA1to
https://dl.doubtnut.com/l/_jRB0FhWCiut8


Watch Video Solution

29. In Figure, 
 are centres
 of two circles intersecting

at 
is a
straight line, find .

Watch Video Solution

O and O'

B and C. ACD x

30. Two circles with centres 
 of radii 

respectively intersect at two points 
 such that 


 are tangents to the two circles. Find the length of

the common chord 

Watch Video Solution

AandB 3cmand4cm

CandD

ACandBC

CD.

https://dl.doubtnut.com/l/_jRB0FhWCiut8
https://dl.doubtnut.com/l/_xeScVvCMOZLC
https://dl.doubtnut.com/l/_393eGQICSniE


31. If an isosceles  in which AB=AC=6cm, is inscribed in a

circle of radius 9cm, find the area of the triangle.

Watch Video Solution

ΔABC

32. O
 is the centre of a circle of radius 5cm.
 T
 is a point such

that OT=13cm  and  OT
 intersects the circle at E.
 If AB
 is the

tangent to the circle at E,
find length of AB.

Watch Video Solution

33. AB is a diameter of a circle with centre O, AH and BK are

perpendiculars from A and B to the tangent at a point P on the

https://dl.doubtnut.com/l/_MAl9wI3oeBWb
https://dl.doubtnut.com/l/_ty1h0Ld1NkOb
https://dl.doubtnut.com/l/_XDdpWP9whv8T


circle, Prove that AH+BK=AB. 

Watch Video Solution

34. A tangent 
at a point 
of a circle
of radius 5 cm meets a

line through the centre 
 at a point 
 so that 
 .

Find the
length of 
.

Watch Video Solution

PQ P

O Q OQ = 13cm

PQ

35. A line
 through the centre 
 of a circle
 of radius 7 cm cuts

the tangent, at a point 
 on the
 circle, at 
 such that 

O

P Q

https://dl.doubtnut.com/l/_XDdpWP9whv8T
https://dl.doubtnut.com/l/_QUXnaP9d2JWZ
https://dl.doubtnut.com/l/_rQqTRkwTRgTP



. Find 
.

Watch Video Solution

PQ = 24cm OQ

36. Fill in the
 blanks:
 The common
 point of a tangent and the

circle is called......
 A circle
 may have ..... parallel tangents.
 A

tangent
to a circle intersects it in ..... point(s).
A line
 intersecting

a circle in two points is called a ........
 (v) The
 angle between

tangent at a point on a circle and the radius through the point

is .........

Watch Video Solution

37. How many
tangents can a circle have?

Watch Video Solution

https://dl.doubtnut.com/l/_rQqTRkwTRgTP
https://dl.doubtnut.com/l/_5cuvU88HBTq9
https://dl.doubtnut.com/l/_cMv2lsWhIuPR


38. 
 is the
 centre of a circle of radius 8 cm. The tangent at a

point 
 on the
 circle cuts a line through 
 at 
 such that


. Find 
.

Watch Video Solution

O

A O B

AB = 15cm OB

39. If the
tangent at a point 
 to a circle
with centre 
 cuts a

line
through 
at 
such that 
 and 
 .

Find the
radius of the circle.

Watch Video Solution

P O

O Q PQ = 24cm OQ = 25cm

40. A point 
 is 13cm
 from the centre of the circle. The length

of the tangent drawn from 
 to the
 circle is 12 cm. Find the

radius of the circle.

P

P

https://dl.doubtnut.com/l/_aq7Bs6idFbFA
https://dl.doubtnut.com/l/_33l51wwpUNwd
https://dl.doubtnut.com/l/_FlXPQWhbu7Yj


Watch Video Solution

41. Find the
 length of the tangent drawn from a point whose

distance from the centre of a
 circle is 25 cm. Given that the

radius of the circle is 7 cm.

Watch Video Solution

42. A circle is
touching the side 
of 
at 
and
touching 


 and 
 produced at
 
 and 
 respectively.
 Prove that 


.

Watch Video Solution

BC ABC P

AB AC Q R

AQ = (Perimeter of ABC)
1

2

https://dl.doubtnut.com/l/_FlXPQWhbu7Yj
https://dl.doubtnut.com/l/_4E3TV28ng15h
https://dl.doubtnut.com/l/_YyCR3TpJaGEV


43. In Figure, the incircle of 
 touches the
 sides 

and 
 and 
 respectively.
 Show that 

.

Watch Video Solution

ABC BC,  CA

AB at D,  E F

AF + BD + CE = AE + BF + CD = (Perimeter of ABC)
1

2

44. In Fig.
 10.20, the sides 
 and 
 of triangle


touch a
 circle with centre 
 and radius 
 at 
 and 

respectively.
(FIGURE)
Prove that:
1) AB + CQ = AC + BQ

Watch Video Solution

AB,  BC CA ABC

O r P ,  Q R

45. In Figure, two circles touch each other at the point 
. Prove

that the common tangent to the circles at 
 , bisects
 the

C

C

https://dl.doubtnut.com/l/_6ecfHJxRRMuG
https://dl.doubtnut.com/l/_5DaaPdxpEDLs
https://dl.doubtnut.com/l/_mRAmNDUpPP1B


common tangent at 
and 
.

Watch Video Solution

P Q

46. A circle
touches all the four sides of a quadrilateral 
.

Prove
that: 
.

Watch Video Solution

ABCD

AB + CD = BC + DA

47. If all the
side of a parallelogram touch a circle, show that the

parallelogram is a
rhombus.          OR
Prove that
a parallelogram

circumscribing a circle is a rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_mRAmNDUpPP1B
https://dl.doubtnut.com/l/_sOhoe2G1QQme
https://dl.doubtnut.com/l/_CpwR6uoyzKHO


48. The radius
 of the incircle of a triangle is 4 cm and the

segments into which one side is
divided by the point of contact

are 6 cm and 8 cm. Determine the other two
 sides of the

triangle.

Watch Video Solution

49. Prove that
 the tangents at the extremities of any chord

make equal angles with the
chord.

Watch Video Solution

50. Two
tangents 
and 
are drawn
to a circle with centre 


from an
external point 
. Prove
that 
.

Watch Video Solution

TP TQ

O T ∠PTQ = 2∠OPQ

https://dl.doubtnut.com/l/_nJewk2OFrWpp
https://dl.doubtnut.com/l/_FhXZF9hnziaV
https://dl.doubtnut.com/l/_Amp7zzGQBhtC


51. 
 is a chord
of length 8 cm of a circle of radius 5 cm. The

tangents at 
 and 
 intersect
 at a point 
 . Find the
 length 


.

Watch Video Solution

PQ

P Q T

TP

52. In Figure, 
 and 
 are two
 parallel tangents at 
 and 
 .

The
tangent at 
 makes an
 intercept 
 between 
 and 
 .

Prove
that 
.

Watch Video Solution

n m A B

C DE n m

∠DFE = 90∘

53. Prove that
the angle between two tangents drawn from an

external point to a circle is
 supplementary to the angle

https://dl.doubtnut.com/l/_Amp7zzGQBhtC
https://dl.doubtnut.com/l/_MGni7U5oTzwE
https://dl.doubtnut.com/l/_pVmQyN3yNLEe
https://dl.doubtnut.com/l/_rC4MunAnlkRU


subtended by the line segments joining the points
of contact at

the centre.

Watch Video Solution

54. Show that
tangent lines at the end points of a diameter of a

circle are parallel.

Watch Video Solution

55. Two
concentric circles are of radii 5 cm and 3 cm. Find the

length of the chord
 of the larger circle which touches the

smaller circle.

Watch Video Solution

https://dl.doubtnut.com/l/_rC4MunAnlkRU
https://dl.doubtnut.com/l/_xgX9mywJZoCv
https://dl.doubtnut.com/l/_Kbw4l7j7sYww


56. A circle
 touches the sides of a quadrilateral 
 at 


 respectively.
 Show that the angles subtended at

the centre by a pair of opposite sides are
supplementary.

Watch Video Solution

ABCD

P ,  Q,  R,  S

57. Find the
 locus of centres of circles which touch two

intersecting lines.

Watch Video Solution

58. Find the
 locus of centres of circles which touch two

intersecting lines.

Watch Video Solution

https://dl.doubtnut.com/l/_IsQgLgiEzQOx
https://dl.doubtnut.com/l/_YpEMDr35Z5gL
https://dl.doubtnut.com/l/_9nNLcNRtDmY3
https://dl.doubtnut.com/l/_fTkHPXjAd01I


59. If 
 is a
 tangent at 
 to a circle
 whose centre is 
 and 


 , 
 , Find the
 length of the tangent

segment 
.

Watch Video Solution

PT T O

OP = 17cm OT = 8cm

PT

60. Find the
length of a tangent drawn to a circle with radius 5

cm, from a point 13 cm
from the centre of the circle.

Watch Video Solution

61. A point is
26 cm away from the centre 
of a circle
and the

length 
of the
tangent drawn from 
to the
circle is 10 cm.

Find the radius of the circle.

Watch Video Solution

O

PT P

https://dl.doubtnut.com/l/_fTkHPXjAd01I
https://dl.doubtnut.com/l/_zXUuvZSp8yFv
https://dl.doubtnut.com/l/_F2frefjsfBue


62. If from any
point on the common chord of two intersecting

circles, tangents be drawn to
 the circles, prove that they are

equal.

Watch Video Solution

63. If the
sides of a quadrilateral touch a circle, prove that the

sum of a pair of
opposite sides is equal to the sum of the other

pair.

Watch Video Solution

64. If 
are
tangents in Fig. 10.51 and 
 ,

find the
perimeter of 
. (FIGURE)

Watch Video Solution

AB,  AC,  PQ AB = 5cm

APQ

https://dl.doubtnut.com/l/_F2frefjsfBue
https://dl.doubtnut.com/l/_8dmsEUWqWFtL
https://dl.doubtnut.com/l/_sAWDhjxL2lZH
https://dl.doubtnut.com/l/_hAwiQtZUKU9x


Watch Video Solution

65. Prove that
 the intercept of a tangent between two parallel

tangents to a circle subtends
a right angle at the centre.

Watch Video Solution

66. In Fig.
 
is tangent
at a point 
of the
circle with centre 

. If 
, find 
. (FIGURE)

Watch Video Solution

PQ R O

∠TRQ = 30o ∠PRS

67. If 
 and 
 are
 tangents from an outside point 
 such

that 
and 
 . Find the
 length of chord 


.

Watch Video Solution

PA PB P

PA = 10cm ∠APB = 60o

AB

https://dl.doubtnut.com/l/_hAwiQtZUKU9x
https://dl.doubtnut.com/l/_DdFwhhaq7LZl
https://dl.doubtnut.com/l/_mVfGaNbhvVd5
https://dl.doubtnut.com/l/_mjUohIhF7gfl


68. From an
external point 
, tangents 
and 
drawn to a

circle with centre 
 . If 
 is the
 tangent to the circle at a

point 
and 
, find the
perimeter of 
.

Watch Video Solution

P PA PB

O CD

E PA = 14cm PCD

69. In Fig.
 10.53, 
 is a right
triangle right-angled at 
such

that 
and 
. Find the
radius of its incircle.

(FIGURE)

Watch Video Solution

ABC B

BC = 6cm AB = 8cm

70. From a
point 
 , two
tangents 
and 
are drawn
to a

circle with centre 
. If 
diameter of
the circle, show that 

P PA PB

O OP =

https://dl.doubtnut.com/l/_mjUohIhF7gfl
https://dl.doubtnut.com/l/_PVcGP5Cnha7L
https://dl.doubtnut.com/l/_VJeLDu6PRvxQ
https://dl.doubtnut.com/l/_hWcSIbFXrIIJ



is
equilateral.

Watch Video Solution

△ APB

71. Two tangent
 segments 
 and 
 are drawn
 to a circle

with centre 
 such that 
 . Prove
 that 


.

Watch Video Solution

PA PB

O ∠APB = 120∘

OP = 2 AP

72. If 
 is
 isosceles with 
 and 
 is the

incircle of the 
 touching 
 at 
 , prove
 that 
 bisects 


.

Watch Video Solution

ABC AB = AC C(O,  r)

ABC BC L L

BC

https://dl.doubtnut.com/l/_hWcSIbFXrIIJ
https://dl.doubtnut.com/l/_rxC72DByScOs
https://dl.doubtnut.com/l/_OGgGufSrc1sG


73. In Fig.
 10.54, a circle touches all the four sides of a

quadrilateral 
 with 
 , 
 and 


. Find 
.
(FIGURE)

Watch Video Solution

ABCD AB = 6cm BC = 7cm

CD = 4cm AD

74. Prove that the perpendicular at the point of contact
to the

tangent to a circle passes through the centre.

Watch Video Solution

75. Two circles touch externally at a point . From a external

point  on the tangent at , tangents  and  are drawn

to the circles with points of contact  and  respectively. Prove

that .

P

T P TQ TR

Q R

TQ = TR

https://dl.doubtnut.com/l/_W3MsG2DjzOVY
https://dl.doubtnut.com/l/_tlHSB9C0iijD
https://dl.doubtnut.com/l/_doXJ9mOogxb9


Watch Video Solution

76. In Fig.
 10.57, a circle is inscribed in a quadrilateral 
 in

which 
 . If 
 , 
 and 


, find the
radius 
of the
circle. (FIGURE)

Watch Video Solution

ABCD

∠B = 90o AD = 23cm AB = 29cm

DS = 5cm r

77. 
is a chord
of length 16cm of a circle of radius 10cm. The

tangents at 
and 
intersect
at a point 
 . Find the
length of 


.

Watch Video Solution

AB

A B P

PA

https://dl.doubtnut.com/l/_doXJ9mOogxb9
https://dl.doubtnut.com/l/_oyUM39Shw0kW
https://dl.doubtnut.com/l/_p0x2GC8tlCRM


78. In Figure, 
and 
are
tangents from an external point 


to a circle
with centre 
. 
touches the
circle at 
 . Prove

that 
.

Watch Video Solution

PA PB

P O LN M

PL + LM = PN + MN

79. In Figure, 
 is a
 tangent to the given circle at point 

such that 
 and 
 . The other
 tangents 


and 
are drawn
respectively from 
and 
to the
circle

and meet when produced at 
 making 
 a right
 angle

triangle. Calculate (i) 
(ii) radius
of the circle.

Watch Video Solution

BDC D

BD = 30cm CD = 7cm

BE CF B C

A BAC

AF

https://dl.doubtnut.com/l/_EZuvqutfFnf2
https://dl.doubtnut.com/l/_95UTWkDmGp70


80. In Fig.
10.62, 
. The
tangents to the circle at 
and


 intersect
 at a point 
 . Prove
 that 
 and 
 are right

bisectors of each other. (FIGURE)

Watch Video Solution

PO ⊥ QO P

Q T PQ OT

81. The lengths
 of three consecutive sides of a quadrilateral

circumscribing a circle are 4
 cm, 5cm, and 7cm respectively.

Determine the length of the fourth side.

Watch Video Solution

82. In Fig.
 10.67, 
 and
 perimeter of 


. Determine
 
and 
. (FIGURE)

Watch Video Solution

OQ :PQ = 3: 4

POQ = 60cm PQ,  QR OP

https://dl.doubtnut.com/l/_8ZP3fHCwgUMM
https://dl.doubtnut.com/l/_9KQBY61whx0R
https://dl.doubtnut.com/l/_Ctk8oRzpgfLa


83. In Fig.
 10.72, 
 and 
 are
 tangents to the circle drawn

from an external point 
 . 
 is a third
tangent touching the

circle at 
. If 
and 
, what is
the length 


? (FIGURE)

Watch Video Solution

PA PB

P CD

Q PB = 10cm CQ = 2cm

PC

84. What is the
 distance between two parallel tangents of a

circle of radius 4 cm?

Watch Video Solution

85. The length of a tangent from a point A at distance 5
 cm

from the centre of the circle is 4cm. Find the radius of the circle.

h id l i

https://dl.doubtnut.com/l/_Ctk8oRzpgfLa
https://dl.doubtnut.com/l/_HLUKl6CzWKrH
https://dl.doubtnut.com/l/_nWvT4TAyPUnJ
https://dl.doubtnut.com/l/_0aSulS9kp7Am


Watch Video Solution

86. Two
tangents 
and 
are drawn
from an external point 


 to a circle
 with centre 
 as shown in
 Fig. 10.73. If they are

inclined to each other at an angle of 
 , then what
 is the

value of 
?

Watch Video Solution

TP TQ

T O

100o

∠POQ

87. What is the
 distance between two parallel tangents to a

circle of radius 5 cm?

Watch Video Solution

88. In Q. No. 1,
 if 
, what is
the perimeter of 
?

Watch Video Solution

PB = 10cm PCD

https://dl.doubtnut.com/l/_0aSulS9kp7Am
https://dl.doubtnut.com/l/_s1pB7IEyb05J
https://dl.doubtnut.com/l/_aAnHxwnn9HDC
https://dl.doubtnut.com/l/_b5GLKnJuc2zm


Watch Video Solution

89. In Fig.
 10.74, 
 and 
 are
 tangents to a circle with

centre 
. 
is another
tangent touching the circle at 
 . If


 and 
 , then find
 the length of 
 .

(FIGURE)

Watch Video Solution

CP CQ

O ARB R

CP = 11cm BC = 7cm BR

90. In figure ΔABC is circumscribing a circle. Find the length of

BC

Watch Video Solution

91. In Fig.
 10.76, 
 and 
 are
 tangents from an external

point 
to a circle
with centre 
. 
is another
tangent which

CP CQ

C O AB

https://dl.doubtnut.com/l/_b5GLKnJuc2zm
https://dl.doubtnut.com/l/_cEjMU2zHKfr7
https://dl.doubtnut.com/l/_gzqTjZpPQmRy
https://dl.doubtnut.com/l/_tDrjV9MkzCug


touches the circle at 
 . If 
 and 
 , find

the
length of 
.
(FIGURE)

Watch Video Solution

R CP = 11cm BR = 4cm

BC

92. Two concentric circles are of radii 5 cm and 3 cm.
 Find the

length of the chord of the larger circle which touches the

smaller
circle.

Watch Video Solution

93. In Figure, 
and 
are
tangents to the circle with centre


such that 
. Write the
measure of 
.

Watch Video Solution

PA PB

O ∠APB = 50∘ ∠OAB

https://dl.doubtnut.com/l/_tDrjV9MkzCug
https://dl.doubtnut.com/l/_8QxGuXL2eqtY
https://dl.doubtnut.com/l/_C91b2FWzrIxI


94. A tangent  at a point 
of a circle of radius 5 cm meets a

line through the centre  at a point  such that  .

Length  is

A. (a) 12cm

B. (b) 13cm

C. (c) 8.5cm

D. (d) 

Answer: null

Watch Video Solution

PQ P

O Q OQ = 12cm

PQ

√119cm

95. From a
 point 
 , the
 length of the tangent to a circle is

24cm and the distance of 
from the
centre is 25cm. The radius

of the circle is

Q

Q

https://dl.doubtnut.com/l/_C5fvrezpzSiN
https://dl.doubtnut.com/l/_UB1Sz1LPjeHy


A. (a)
7cm

B. (b) 12cm

C. (c) 15cm

D. (d) 24.5cm

Answer: null

Watch Video Solution

96. The length of the tangent from a point  to a circle, of

radius 3cm, is 4cm. The distance of  from the centre of the

circle is

A. 

B. 

C. 5cm

A

A

√7cm

7cm

https://dl.doubtnut.com/l/_UB1Sz1LPjeHy
https://dl.doubtnut.com/l/_luJdJOFuNgsw


D. 25cm

Answer: null

Watch Video Solution

97. If tangents  and  from a point  to a circle with

centre  are inclined to each other at an angle of  then 

 is equal to :

A. 

B. 

C. 

D. 

Answer: null

PA PB P

O 80o

∠POA

50o

60o

70o

80o

https://dl.doubtnut.com/l/_luJdJOFuNgsw
https://dl.doubtnut.com/l/_UNEs9qLMgEy5


Watch Video Solution

98. In figure, sides 
and 
of 
are produced to point 


 and 
 respectively. If 
 and 

find 
Figure

Watch Video Solution

QP RQ PQR

S T ∠SPR = 1350 ∠PQT = 1100,

∠PRQ.

99.  is a tangent to a circle with centre  at the point  . If 

 is an isosceles triangle, then  is equal to :

A. 

B. 

C. 

D. 

PQ O P

△ OPQ ∠OQP

30o

45o

60o

90o

https://dl.doubtnut.com/l/_UNEs9qLMgEy5
https://dl.doubtnut.com/l/_MCuhDli1pLum
https://dl.doubtnut.com/l/_xymn8PxLJqLp


Answer: null

Watch Video Solution

100. Two equal
circles touch each other externally at 
and 

is a common
 tangent to the circles. Then, 
 
 (b) 


(c) 
(d) 

Watch Video Solution

C AB

∠ACB = 60o

45o 30o 90o

101. 
is a right
angled triangle, right angled at 
such that


and 
. A circle
with centre 
is
inscribed

in 
 . The
radius of the circle is
 (a)
 1cm (b) 2cm (c) 3cm (d)

4cm

Watch Video Solution

ABC B

BC = 6cm AB = 8cm O

ABC

https://dl.doubtnut.com/l/_xymn8PxLJqLp
https://dl.doubtnut.com/l/_JluazWBiSfNS
https://dl.doubtnut.com/l/_Ql3HDnIIClWG


102. 
 is a
 tangent drawn from a point 
 to a circle
 with

centre 
 and 
 is a
 diameter of the circle such that


, then 
is
 
(b) 
(c) 
(d) 

Watch Video Solution

PQ P

O QOR

∠POR = 120o ∠OPQ 60o 45o 30o 90o

103. If four
 sides of a quadrilateral 
 are
 tangential to a

circle, then
 
 (b) 


 (c) 
 (d)

Watch Video Solution

ABCD

AC + AD = BD + CD

AB + CD = BC + AD AB + CD = AC + BC

AC + AD = BC + DB

104. The length
 of the tangent drawn from a point 8cm away

from the centre of a circle of
radius 6cm is
(a) 
(b) √7cm 2√7cm

https://dl.doubtnut.com/l/_iH2a8pubFGi1
https://dl.doubtnut.com/l/_7eBAxUNoiMiw
https://dl.doubtnut.com/l/_7l45i6PCeIkT


(c) 
(d) 

Watch Video Solution

10cm 5cm

105. 
 and 
 are two
 common tangents to circles which

touch each other at 
 . If 
 lies on 
 such that 
 =4cm,

then 
is equal to
(a)
4cm (b) 6cm (c) 8cm (d) 12cm

Watch Video Solution

AB CD

C D AB CD

AB

106. In Fig, if 
 and 
 are
 tangents to the circle at 


 and 
 respectively.
 Then, 




Watch Video Solution

AD,  AE BC

D,  E F (a)AD = AB + BC + CA

(b)2AD = AB + BC + CA (c)3AD = AB + BC + CA

(d)4AD = AB + BC + CA

https://dl.doubtnut.com/l/_7l45i6PCeIkT
https://dl.doubtnut.com/l/_V2UyC16GESCJ
https://dl.doubtnut.com/l/_Ul5CYxphKX9T


107. In Figure, 
 is a
 tangent to the circle with centre 
 . If


 and 
 , then 
 (a)
 8cm (b) 3cm (c)

2.5cm (d) 5cm

Watch Video Solution

RQ O

SQ = 6cm QR = 4cm OR =

108. In Figure, the perimeter of 
 is (a)
 30cm (b) 60cm (c)

45cm (d) 15cm

Watch Video Solution

ABC

109. In Figure, 
is a
tangent to the circle with centre 
such

that 
 and 
 . Then, 
 



 


Watch Video Solution

AP O

OP = 4cm ∠OPA = 30∘ AP = (a)2√2cm

(b)2cm (c)2√3cm (d)3√2cm

https://dl.doubtnut.com/l/_lGLMwHuMp9px
https://dl.doubtnut.com/l/_bwQVu4JHMgy5
https://dl.doubtnut.com/l/_9wc96EiV8vjV


110. 
and 
are
tangents drawn from a point 
to a circle

with centre 
 and radius
 9cm. If 
 then 


(a)
12cm (b) 18cm (c) 24cm (d) 36cm

Watch Video Solution

AP AQ A

O OA = 15cm,

AP + AQ =

111. At one end
 A of a diameter 
 of a circle
 of radius 5cm,

tangent 
 is drawn to
 the circle. The length of chord 

parallel to
 
and at a
distance of 8cm from 
is

A. 5cm

B. 6cm

C. 7cm

D. 8cm

AB

XAY CD

XY A

https://dl.doubtnut.com/l/_9wc96EiV8vjV
https://dl.doubtnut.com/l/_pmhD5dFYGrBj
https://dl.doubtnut.com/l/_xurhjB0mbs3s


Answer: D

Watch Video Solution

112. If 
is tangent
drawn from a point 
to a circle
touching

it at 
 and 
 is the
 centre of the circle, then 


 
 
 


Watch Video Solution

PT P

T O

∠OPT + ∠POT = (a)30∘ (b)60∘ (c)90∘ (d)180∘

113. In the
 adjacent figure, if 
 and 


, then 
(a)
5cm (b) 4cm (c) 6cm (d) 7cm

Watch Video Solution

AB = 12cm,   BC = 8cm

AC = 10cm AD =

https://dl.doubtnut.com/l/_xurhjB0mbs3s
https://dl.doubtnut.com/l/_eeeNwlUgR8T1
https://dl.doubtnut.com/l/_3fHcorE8dxCF


114. In Figure, if 
 , then 
 (b) 

(c) 
(d) 

Watch Video Solution

AP = PB (a)AC = AB AC = BC

AQ = QC AB = BC

115. In Figure, if 
 , then 
 
 (b) 


(c) 
(d) 

Watch Video Solution

AP = 10cm BP = (a)√91cm

√127cm √119cm √109cm

116. In Figure, if quadrilateral 
circumscribes
a circle, then


 
(b) 
(c) 
(d) 

Watch Video Solution

PQRS

PD + QB = (a)PQ QR PR PS

https://dl.doubtnut.com/l/_MNWbe4SPaWbE
https://dl.doubtnut.com/l/_8j8F5qwkfM3N
https://dl.doubtnut.com/l/_MU8yWxuZYSRX


117. In Figure, two equal circles touch each other at 
 , if 


, then 
(a)
9cm (b) 18cm (c) 15cm (d) 13.5cm

Watch Video Solution

T

QP = 4. 5cm QR =

118. In Figure, 
 is a
 tangent to a circle with centre 
 at

point 
 . If 
 , then the
 measure of 
 is


(b) 
(c) 
(d) 

Watch Video Solution

APB O

P ∠QPB = 50∘ ∠POQ

(a)100∘ 120∘ 140∘ 150∘

119. In Figure, 
(a)
20cm (b) 26cm (c) 24cm (d) 28cm

Watch Video Solution

PR =

https://dl.doubtnut.com/l/_kEWmC4jgis9j
https://dl.doubtnut.com/l/_JJhZZGtwSned
https://dl.doubtnut.com/l/_0KopA9k4NQDZ


120. In Figure, there are two concentric circles with centre 
 .


and 
are
tangents to the inner circle from point plying

on the outer circle. If 
 , then 
 is equal
 to (a)

10cm (b) 12cm (c) 15cm (d) 18cm

Watch Video Solution

O

PR PQS

PR = 7. 5cm PS

121. In Fig.
 10.94, if 
 and 
 , then 

(FIGURE)
(a)
11cm (b) 7cm (c) 5cm (d) 3cm

Watch Video Solution

AB = 8cm PE = 3cm AE =

122. In Fig.
 10.95, 
and 
are
tangents drawn from 
 to a

circle
 with centre 
 . If 
 , then (FIGURE)


PQ PR P

O ∠OPQ = 35o

https://dl.doubtnut.com/l/_NvvcjIQEz7pX
https://dl.doubtnut.com/l/_PsZpSddCuEbB
https://dl.doubtnut.com/l/_WfiCJbUZWYuf



(b) 
(c) 

(d) 

Watch Video Solution

a = 30o,   b = 60o a = 35o,   b = 55o a = 40o,   b = 50o

a = 45o,   b = 45o

123. In Fig.
 10.96, if 
 and 
 are
 tangents drawn from an

external points 
 to a circle
 with centre 
 such that 


, then 
(FIGURE)
 
(b) 
(c) 
 (d) 

Watch Video Solution

TP TQ

T O

∠TQP = 60o ∠OPQ = 25o 30o 40o

60o

124. In Fig.
 10.97, the sides 
and 
of triangle
 
 ,

touch a
 circle at 
 and 
 respectively.
 If 
 , 


 and 
 , then
 length of 
 is (FIGURE)

(a)
11cm (b) 10cm (c) 14cm (d) 15cm

AB,  BC CA ABC

P ,  Q R PA = 4cm

BP = 3cm AC = 11cm BC

https://dl.doubtnut.com/l/_WfiCJbUZWYuf
https://dl.doubtnut.com/l/_MFBDAdepYNLP
https://dl.doubtnut.com/l/_EiZ56Kk7wRcU


Watch Video Solution

125. In Fig.
10.98, a circle touches the side 
of 
at 
and

touches
 
 and 
 produced at
 
 and 
 respectively.
 If 


 , then the
 perimeter of 
 is (FIGURE)
 (a)
 18cm

(b) 13.5cm (c) 12cm (d) 9cm

Watch Video Solution

DF EDF H

ED EF K M

EK = 9cm EDF

126. In Fig.
 10.99, 
 and 
 are
 tangents from an external

point 
 to a circle
 with centre 
 . If 
 and 


, then the
radius of the circle is (FIGURE)
(a)
3cm (b)

5cm (c) 4cm (d) 6cm

Watch Video Solution

DE DF

D A DE = 5cm

DE ⊥ DF

https://dl.doubtnut.com/l/_EiZ56Kk7wRcU
https://dl.doubtnut.com/l/_MGCkVtxOtgC3
https://dl.doubtnut.com/l/_P02DOvVa7bRu
https://dl.doubtnut.com/l/_Rq1OgGJlHdtx


127. In a right angled triangle , right angled at 

 and . The radius of the circle

inscribed in the triangle (in cm) is :

A. 4

B. 3

C. 2

D. 1

Answer: null

Watch Video Solution

ABC

B,  BC = 12cm AB = 5cm

128. Two circles
 touch each other externally at 
 . 
 is a

common
tangent to the circle touching them at 
and 
 . The

value
of 
is
(a) 
(b) 
(c) 
(d) 

P AB

A B

∠APB 30o 45o 60o 90o

https://dl.doubtnut.com/l/_Rq1OgGJlHdtx
https://dl.doubtnut.com/l/_9dpZZfYuZQeg


Watch Video Solution

129. In Fig.
 10.101, 
and 
are two
tangents to a circle with

centre 
. If 
, then 
equals (a)
 
(b) 

(c) 
(d) 

Watch Video Solution

PQ PR

O ∠QPR = 46o ∠QOR 67o 134o

44o 46o

130. In Figure, 
 is a common tangent to
 the given circles

touching externally at the point 
 . The tangent at 
 meets 


at 
. If 
, then the length of 
(in cm) is (a)

3.8 (b) 7.6 (c) 5.7 (d) 1.9

Watch Video Solution

QR

T T

QR P PT = 3. 8cm QR

https://dl.doubtnut.com/l/_9dpZZfYuZQeg
https://dl.doubtnut.com/l/_l9d4byMRESKt
https://dl.doubtnut.com/l/_S2Z1EUBDLm49


131. In Figure, a
quadrilateral 
is drawn to
circumscribe a

circle such that its sides 
 and 
 touch the

circle at 
 and 
 respectively. If 
 , 


, 
and 
, then 
(a) 10 (b) 9

(c) 8 (d) 7

Watch Video Solution

ABCD

AB,  BC,  CD AD

P ,  Q,  R S AB = x cm

BC = 7cm CR = 3cm AS = 5cm x =

https://dl.doubtnut.com/l/_76fhuZCnWkLX

